University of California at Berkeley

College of Engineering

Department of Electrical Engineering and Computer Sciences

EECS150







J. Wawrzynek

Spring 2002









Homework #7 - Solutions
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2. 

Control:
a) Repeat n times: shiftA, shiftHI, selectSum



b) Repeat n times: reset, shiftB, shiftHI, shiftLOW, return to a)

3. 

	
	FA
	FF
	delay

	array
	O(n)
	O(1)
	O(n)

	shift-and-add
	O(n)
	O(n)
	O(n)

	bit-serial
	O(1)
	O(n)
	O(n)


4. 
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[image: image7.png]module quad 2x1 mux(A,B,S,E,Y);

input [3:0] A,B; //4-bit data inputs.
input S,E; //Select and Enable inputs.
output [3:0] Y; //4-bit Mux ouput.
assigniY. = FEi?2'0 :(S 2 B : B);
endmodule




[image: image8.png]module quad 2x1 mux(A,B,S,E,Y);

input [3:0] A,B; //4-bit data inputs.
input S,E; //Select and Enable inputs.
output [3:0] Y; //4-bit Mux ouput.
assigniY. = FEi?2'0 :(S 2 B : B);
endmodule




[image: image9.png]Dual 2-to-1 line multiplexer with enable and three-state
output.

module ALU 4bit (A,B,S,Y);

input [3:0] A,B;

input [1:0] S; //select operation
output [3:0] Y;

reg [3:0] Y;

always@(A or B or S)

case (S)

2'b00: Y = A + B; //Addition
2'b01: Y = A - B; //Subtraction
2'b10: Y = A & B; //Logical AND
2'bll: Y = A | B; //Logical OR
endcase

endmodule
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